Huinn6ap

Hatypan Toor nac pnapaancaH Hatypan TOOHbI HUANG3IPT X34 X3,43H siH3aap 3ananx 6uaunx 6onHo.
XKuwass Hb 15=7+8, 15=4+5+6, 15=1+2+3+4+5 rax mar.

N HaTypan TOOr XxamruiiH 0NIOH TOOHbI HUNG3PT 3annax 6ruYux Nporpam 30XMo.

Input

Hatypan too N, 1<=N<=10"9

Output

XaMruiiH ofioH gapaancaH TOOHbl HUANB3PWIAH 3XHUIA T0O 6a YT HUANB3PWIAH TOOHYY IbIH TOO 60/10X XOC TOO GaliHa.

Example
Input:

14

Output:

24

Tann6ap: 14=2+3+4+5 yump HUANBIPUIAH XaMruitH 6ara T00 2, HAAT 4 TOOHbI HUANB3IPT XaMruiiH ypTtaaa éudamnx 605Ho.



	Нийлбэр
	Input
	Output
	Example


